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Find The Errors Question for IBPS Clerk Pre and SBI Clerk
Pre

Find The Errors Quiz 21

Directions: In the following question, some part of the sentence may have errors.
Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

1. In the circumstance (A) / the manager has (B) / no option (C) /

except to resign. (D) / No error (E)
A. In the circumstance

B. the manager has

C. no option

D. except to resign

E. No error

2. It is now (A) / possible for customers (B) / to handle nearly all (C) /

their transactions online. (D) / No error (E)
A. ltis now

B. possible for customers

C. to handle nearly all

D. their transactions online

E. No error

3. Against his family's wishes (A) / Rajesh plans to (B) / take up a job

(C) / as a journalist. (D) / No error (E)
A. Against his family's wishes

B. Rajesh plans to

C. take up a job

D. as a journalist

E. No error



4. After her retiring (A) / she established many (B) / institutions to

train (C) / underpriviliged but talented children. (D) / No error (E)
A. After her retiring

B. she established many

C. institutions to train

D. underpriviliged but talented children

E. No error

5. The company has launched (A) / a creative marketing campaign (B)

/ to reach for (C) / its rural customers. (D) / No error (E)
A. The company has launched

B. a creative marketing campaign

C. to reach for

D. its rural customers

E. No error

6. The judge has directed to (A) / the accused and the complainant (B)
/ not to interfere with (C) / the witness in any manner. (D) / No error

(E)

A. The judge has directed to

B. the accused and the complainant
C. not to interfere with

D. the witness in any manner
E. No error (E)

7. Since the tenant failed (A) / to pay his rent on time (B) / the

landlord denied him (C) / access to the premise. (D) / No error (E)
A. Since the tenant failed

B. To pay his rent on time

C. the landlord denied him

D. access to the premise

E. No error



8. The main advantage India has (A) / over other countries is (B) / its
large human capital which (C) / make it an ideal out scouring base. (D)

/ No error (E)

A. The main advantage India has

B. its large human capital which

C. make it an ideal out scouring base
D. No error

9. Today most employees complain (A) / of suffering for the stress (B)

/ of attending to (C) / rude customers all day. (D) / No error (E)
A. Today most employees complain

B. of suffering for the stress

C. of attending to

D. rude customers all day

E. No error

10. The minister has (A) / recently announced (B) / a detail insurance

plan to (C) / meet the needs of the poor. (D) / No error (E)
A. The minister has

B. recently announced

C. a detail insurance plan to

D. meet the needs of the poor

E. No error



Correct Answers:

1 2 3 4 5 6 7 8 9 10
D E E A o A D D B o

Explanations:

1.

The preposition 'except' is generally followed by a gerund while 'but' is followed by
an infinitive.

In option D, the preposition 'except’, therefore, must be replaced with 'but' to make
it a grammatically correct sentence.

Hence, option D is correct.

2.

The sentence is absolutely correct and thus has no errorin it.
Option E is hence the correct answer.

3.

The sentence is absolutely correct and thus has no error in it.
Option E is hence the correct answer.

4,

In option A, 'retiring' must be replaced with 'retirement' to make it a grammatically
correct sentence.
Hence, option A is correct.

5.

In option C, 'for' is not required as 'reach' need not be followed by a preposition.
Hence, option C is correct.



6.

In option A, 'to' is not required after 'directed' to make the sentence meaningful.
Hence, option A is correct.

7.

In option D, 'premises' must be used and not 'premise' because premises stands for a
building while premise stands for an idea.
Hence, option D is correct.

8.

In option D, 'makes' is appropriate to use and not 'make' because, human capital is a
singular entity.
Hence, option D is correct.

9.

In the context of a disease, use of 'suffer from' is more appropriate than that of
'suffer for'.

In part B, 'suffering for', hence, must be replaced with 'suffering from' to make it a
grammatically correct sentence.

Hence, option B is correct.

10.

In option C, the noun 'detail' must be replaced with the adjective 'detailed' as it is
adding information to the noun phrase 'insurance plan'.

Hence, option Cis correct.
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